Trade Question (1 to 70)

Objective Question Paper

Which one is not the correct statement
(@) lvoltx1coulomb =1 joule

(o) Vvoltxlampere =1 joule / second
(c) lvoltx1watt=1H.P.

(d) Watt-hour can be expressed in eV

If a 0.1 % increase in length due to stretching,
the percentage increase ip its resistance will be
(@) 0.2% (b) 2%
© 1% (d) 0.1%

The resistivity of a wire
(a) Increases with the length of the wire
(b) Decreases with the area of cross-section

(c) Decreases with the length and increases with
the cross-section of wire

(d) None of the above statement is correct
The resistance of a wire is 10 Q. Its length is

mereased by 10% by stretching. The new
resistance will now be

(a) 12Q () 1.2Q

(c) 13Q d) 11 Q

If a wire of resistance R is melted and
recasted to half of its length, then the new
resistance of the wire will be
(a) R/4 (b) R/2
() R (d) 2R

Alternating current can’t be measured by dc
ammeter because
(a) ac cannot pass through dc ammeter
(b) Average value of complete cycle is zero
(¢) acisvirtual
(d) ac changes its direction

The resistance of a coil for dc is in ohms. In
ac, the resistance
(a) Will remain same  (b) Will increase
(c) Will decrease (d) Will be zero

A 40 Q electric heater is connected to a 200 V,
50 Hz mains supply. The peak value of electric
current flowing in the circuit is approximately
(a) 26 A (b) 5,04
() TA d) 104

Current in the circuit is wattless, if
(a) Inductance in the circuit is zero

10.

11.

12.

13.

14.

15.

17,

(a) 112

(b) Resistance in the circuit 1s zero
(c) Currentis alternating
(d) Resistance and inductance both are zero

A choke coil is preferred to a rheostat mn ac
circuit as
(a) It consumes almost zero power
(b) It increases current
(c) It increases power
(d) It increases voltage

We want to construct a transformer that
decreases the voltage 4 times. If the number of
turns in the secondary coil is 1680. What must be
the number of turns in primary coil?

(a) 420 (b) 840
(c) 3360 (d) 6720

A transformer is used to light a 60 W and 110
V lamp from 220 V mains. If the main current is
1.5 A, what is the efficiency of the transformer?
(a) 18.18% (b) 31.91%

(c) 75.23% (d) 83.27%

A 110 V input is supplied to a transformer.
The output circuit has a current of 4A at 220 V. If
the efficiency of the transformer is 60%. What 1s
the current in the primary circuit?

(a) 6.67TA (b) 12.23 A
(c) 13.34 A (d) 16.73 A

The current in the primary circuit and
secondary circuit of a transformer are 20 A and
4A respectively. If the number of turns in
primary coil is 560. What is the number of turns
in secondary circuit if the transformer has 100%
efficiency?

(b) 280
(c) 1120 (d) 2800

Name the type of current that is induced on
the surface of a metallic solid when moved in a
non ~ uniform magnetic field.

(a) Eddy current (b) Metallic current
(d) Induced current

Which of the following parts is absent in an

AC generator?

(c) Surface current

(a) Armature (b) Slip rings
(d) Brush

In polyphase generators, there are multiple
numbers of

(c) Split rings

@ Scanned with OKEN Scanner



18.

19.

20.

21.

23.

24.

25,

26.

27.

(a) field magnet (b) armature
(c) slip rings (d) all of these
For a step down transformer
(a) Np> Ns (b) Nr<Ns
() Nr=Ns (d) Nr2>Ns
Which is not possible for a transformer?
(a) Eplp = Esls (b) Evlp < Esls
(¢) Eplp > Esls (d) All are possible
Which of the following metal is not used in
distribution lines?
(a) Copper wire
(c) Steel wire
PVC Stand For?
(a) Poly Vinyl Chloride
(b) Post Varnish Conductor
(c) Pressed and Varnished Conductor
(d) Positive Voltage Conductor
A switchgear device that is used to protect
electric circuit under earth fault, over current
and short circuit is?
(a) MCB (b) ACB
(c) OCB (d) All of above
Insulation resistance of LT cable between
phase to earth and phase to phase is tested with
1 kV Megger for 1 minute. Minimum IR value
should be?
(a) 5Mega ohm (b) 10 Mega ohm
(c) 20 Mega ohm (d) 50 Mega ohm
Rated current carrying capacity of 4 core 50
sq. mm LT cable is?
(a) 195 Ampere (b) 133 Ampere
(c) 249 Ampere (d) 365 Ampere
Cable Lubricant is used to?

(b) Aluminium wire
(d) Tungsten wire

(a) lower friction and pulling tension during a
cabling installation

(b) Preventing potential damage

(c) help cable run smoothly over the surface of
the conduit

(d) All of These

The Insulatin
should have?

(a) Low Cost
(b) High Dielectric Strength
() High Mechanica] Strength
(d) An of above

The frequency of DC supply is?
(a) Zero (b) 16Hz
(c) 50Hz. (d) 100Hz,

g material property for g cable

28.

29.

30.

31.

32.

33.

34.

35.

36.

This equipment known as

D

(b) Rotor
(d) Change over switch

(a) Insulator

(c) Auto-re-closer
What is the full form of C.T

(a) Voltage transformer

(b) Parallel transformer

(c) Series transformer

(d) Current Transformer -
To avoid drag and damage to cable insulatio

the tool used for easy laying of cable is?

(a) Line tester (b) Wooden planks

(c) Crow bar (d) Roller Stool
Name of this Tool is?

(a) Plier
(c) Chisel
Distribution network Lines have

(b) Crimping Tool
(d) Spanner

(a) Over head lines and underground cables

(b) Lines in rural area are mostly radial in
nature

(¢) Ring mains circuit in urban area
(d) All of above
Types of Electricity Generations are
(a) Thermal (Coal, Gas & Diesel)
(b) Hydro
(c) Non-Conventional
power)
(d) All of above
Batteries are source of
(a) Direct current (DC)
(b) Alternating current (AC)
(c) High Frequency (HF)
(d) Power Factor (PF)
Capacity of a Capacitor is measured 1n
(a) Farad (b) Coulomb
(©) Henry (d) Ohm

‘ In live LT lines current is measured by
Instrument?

Energy (Solar, Wind

(@) Galvaneg meter

(b) Clamp ‘ON’ or Tong tester
(©) Multj meter

(d) Megger
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37.

38.

39.

40.

41.

43.

44,

45.

Copper is?
(a) Good conductor for electricity.
(b) Good insulator for electricity
(¢) Good resistor
(d) None of above

Which
Current?

material

opposes the movement

(a) Semi-Conductor

(¢) Conductor
Voltage Mean?

(a) electromotive force

(b) Resistor
(d) Insulator

(b) Potential difference between the positive and
the negative terminals of a battery
(c) botha &b
(d) Flow of Current
Desirable earth resistance of 11
installations 1s required?
(a) Less than 1 Ohm (b) Up to 5 Ohm
(c) Upto 10 Ohm (d) Above 10 Ohm
Following material 1s poured to fill the
earthing pit?

kV

(a) Glass & ceramic (b) Salt & charcoal
(c) Wood & paper (d) Rubber & plastic
In LT line you have checked current flow in
each phase through Clamp On meter and found
the load as 100 Ampere, 100 Ampere and 100
Ampere state how much current is
through the neutral line?
(a) 5 Ampere (b) 0 Ampere
(c) 15 Ampere (d) Around 10 Ampere
Barrels fuse are used in 11 kV over head
distribution systems are colour coded. 2 ampere
fuse element is used for 26 KVA transformer.
State the colour code of barrel?
(a) White (b) Green
(¢) Red (d) Yellow
A fuse wire should have?

flowing

(a) High specific resistance and low melting point
(b) High specific resistance and high melting
point
(c) Low specific resistance and low melting point
(d) Low specific resistance and high melting
point
The main purpose of GO switch is to ensure
protection of the maintenance person under any
circumstance and operated under ‘OFF LOAD’
condition. State GO switch is?

(a) Air circuit breaker

46.

48.

49.

50.

51.

52.

53.

(b) Isolator
(¢) LT Triple pole switch
(d) Oil Circuit Breaker
Where the guy strain insulator is fixed in the
stay wire assembly?
(a) At the top of pole near eye bolt
(b) Three metre above the ground
(c) At centre of stay wire
(d) One metre above the ground near
In LV 3 phase service line at consumer
premises phase to phase voltage 1s available up
to?
(a) 11 kV (b) 1000V
(c) 650V (d) 415V
PCC poles are dig and grouted up to its total
length?
(a) ¥ portion depth_
(c) l/6* depth
Guard wire in LT over
system is connected with?
(a) Earth and Neutral line
(b) Earth wire connected to bobbin (made of
ceramic or PVC) over neutral line

(b) 1/4 depth
(d) 1/8th portion depth
head distribution

(c) Bobbin over phase and neutral line
(d) Bobbin over phase and earth line

Wedge type connector are used in LT lines to
provide reliable electrical and mechanical
connections for all types of conductors in making
joints between?
(a) Jumpers
(b) Service connections
(¢) ‘T’ connections
(d) All of above

Anti climbing device is a safety device fitted
on HT PCC pole at?
(a) 1 metre above the ground
(b) 2 metre above the ground
(c) 3 metre above the ground
(d) 5 metre above the ground

Which types of Insulators used in overhead
system at the dead end of HT 11 kV line?
(a) Pin Insulator
(b) Shackle Insulator
(c) Disc Insulator
(d) All of above

The type of maintenance carried out in the
event of breakdown due to malfunctioning of
equipment or failure of equipment 18 termed as’

@ Scanned with OKEN Scanner



54,

55.

56.

58.

(a) Predictive maintenance
(b) Preventive maintenance
(c) Breakdown maintenance
(d) None of above 50
What is the minimum permissible BDV value
of oil for a 11KV distribution transformer?
(a) 30KV (b) 60 KV
(c) 48 KV (d) 20 KV
DD fuse as shown is used for HT protection qf
the Transformer. It contains a Fuse Wire in 1t
which melts at the time of over current fault.
How it is revealed that fuse is blown?

(a) Colour of barrel get changed
(b) Ceramic tube get burst

(c) Barrel get slipped from its upper portion and 61.

loosely hang
(d) Fuse blown could npt be identified on live
status

Megger test of transformer is
between Primary winding and earth, Secondary
winding with earth and Primary & Secondary
winding what should be the minimum safe IR

value of 11 kV transformer at 40° ambient

temperature? 63.

(a) 50 Mega Ohm (b) 100 Mega Ohm
(c) 200 Mega Ohm (d) 400 Mega Ohm

What is the causes of physical transformer
failure?

(a) Damage of Insulation

64.
(b) Cracking of bushings
(c) Lightening Surge
(d) All of above
What is the function of 100 mm diameter GI
pipe with diaphragm on its end fitted on top plate
over the transformer tank called pressure reljef
vent or explosion vent? 86,
(a) Itis ainhale of air device when breather start
malfunctioning
(b) It's a gas pressure release when diaphragm
rapture
66.

60.

checked 62.

evel of conservator

i1 1
(c) It control transformer ol

What it indicat

breather turns partially intof

e

oad
(a) Show transformer running over |

(b) Show transformer pecome defective ent
(c) Show transformer oil need replac?m '
(d) Show moisture in the transformer e of
LT ACB installed on the outgomng S e o

transformer got tripped due to fault what will you
do?
(a) Retry to operate ACB
(b) Petrol the line to check the fault
(¢) Try to restore the supply by bypass the ACB
(d) Insert wooden rod in ACB relay so that the

same could not operate

Which of the following part of transformer
visible from outside?
(a) Bushing (b) Core
(c) Secondary Winding (d) Primary Winding

What is the use of isolator?
(a) To disconnect live line on no load
(b) For winding of motor
(¢) For pick up load
(d) Pole making

-Which equipment used in case of fire?
(a) Fire extinguishers
(b) Fire buckets filled with clean dry sand
(© A&B
(d) All of above

What does this sign Indicateg?

i\

.

(a) Drinking Water
F' .
(©) First Aig 8: D‘:::;Xtmgmshey
r

This is a symbol stand for?

(@) Caution

(c) Tripping hazarq

How my (d) Biological Hazard
ny types of fire Extmguwhern”’ (

() No - Horn
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67.

68.

69.

70.

(a) Dry Chemical Power Type (Class A, B, C and
electrical fire) o

(b) Mechanical Foam Type (Class ‘B’ fire)

(c) Carbon Dioxide (CO»2)

(d) All of above

Where Full body harness safety belt is used?

(a) While working on the live line LT on pole for
repair of jumpers

(b) While working on the live line LT on pole for
replacing service line

(¢) While working on the dead line on HT pole for
repair and maintenance

(d) All of above
What is the use of a Chain in over head lines?

(a) Cordon the area for traffic diversion

(b) Used to give tools and accessories by ground
staff to lineman

(c) For connecting the separate over head lines

(d) Use to short circuit the over head line to
earth to avoid back feed of supply
What is Discharge Rod?

(a) A insulated rod having hook at on side
connected with earth lead

(b) A bamboo of 8 feet having arrow on one side

(c) A rod having wet cloth to cool down the hot
spot ’

(d) A neon sign rod which indicate and beep
when put close to live line
Permit to work system provides to workmen

engaged 1n electrical work?

(a) in built safety

(b) Free to execute the job under dead condition

(c) No suspect of back up supply

(d) All the above
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81 to100 (Punjabi Grammer)
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71 to 80 (Punjab State Affairs)
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